® Codefez 2.2 Programming Worksheet 3 !

It costs £10 per adult and £6 per child to play laser tag. Write a function
called game_cost that takes the number of adults and children as an
argument.

If the number of adults is over 4, the discount for adults is 20%. If the
number of children is over 5, the discount for children is 25%. The
function should return an array/list with 3 elements; total_for_adults,
total_for_children and grand_total.

£} Write the code for the problem above
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E3 call the function with 6 adults and 16 children as arguments and print the result.
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